@A.Vanlook

ANALYSE : LES DERIVEES
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ICalculs de dérivées|

Etudier au préalable toutes les formules
Rappel : Calculer les domaines

(- 3x+1y

f(x) f(x)
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. Bx 40558
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- 5x° - 25x*
19 19
-9 72
X x
15 - 75
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C3x 1 (- 3x +1p
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14. \/4x>+23

2x +5
(x-2)

15.

Q2x+1)°
3x

16.

(5x2- 1)°
C(2x3+5)*

18.-5 cos 3x
19.cos 2x + sin 3x
20.2sin?x - cos3x

21.sin 4x cos 5x

22.(sin 2x)tg6x

23. J/sin 2x

sin 3x

24.

CcoS2x

25. tg/x?+1

A

J4x2+23

2(x - 2P - (2x +5)3(x- 2y
(x-2)°

- 4x-19

S (x-2)°

6(2x +1)°2.3x- (2x+1)°3
9x?
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- 3x?
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6(5x2 - 1)° (10x)(2x> +5)* - (5x2- 1)°4(2x3 +5)’ 62

(2x3+5)"

_12x(5x2 - 1)° (2x +25)

(2x3+5)°

15 sin 3x
-2 sin 2x + 3 cos 3x
4 sin X cos X + 3 cos?x sin x

4 cos 4x cos 5x - 5 sin 4x sin 5x

6 sin?2x cos 2x tg 6x + sin®2x
c0s*6x

COS 2x

sin 2x

3cos3xcos2x+ 2sin 3xsin 2x

cos22x
X

sz +1 cosz«/x2 +1




26. I+igx
1- tgx

27. 3sin 2(5x - %)

! (1- tgx)- (1+1gx) _
cos?x cos %x

(1- rgxy

-2
cos2x(1- tgx)

. P p
6sin( 5x - — S5x-=)5
sin( Sx 4)cos( X 4)

= 15sin( 10x - %) = -15c0s10x
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